Name: o Class:
ﬂ Find the median )
Median: lit is the middle number in the data set. If there are two middle numbers,
the median will be the average of those two humbers
1 48, 27 39, 28, 18, 49, 26, 2
2 30.3, 29.5, 38.5, 30.3, 33.7, 36.2
3. 28,5 23/9,627.15,17
4. 452,425, 49.7 501, 68,2, 36.7, 52.3, 62.8
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| Find the median

Median: lit is the middle number.in [the datalset. If there are two middle numbers,

the median will be the average of those two numbers

1. 48,27 39, 28,18, 49, 26, 2

et’s finst of all arrange the numbers in an increasing order

18, 20 PG, 27 28 29 48 49

ow, let’s find the middle number.

You see that, there are two numbers in the middl

th 27+28

0, let’s > average =

Therefore, the median = 27.5

2. 1305 P56 8.5 0.5 58.7,56.2

et’s first of all arrange the numbers inlan increasing order

9.5, 30.3,30.3, 37.7. 38.2, 385

ow, let’s find the middle number.

29.5,130.3, 30.3,37.7, 38.2, 38.5

You see that, there are two numbers in the middl

30.5+37.7

o, let’s the average =

Therefore, the median = 34

Therefore, the median =17

4. 452,425,49.7, 501,682, 36.7, 52.3, 62.8

Therefore, the median = 49.5

oy
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